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Frx
= g & B &t E i = & b fE z B £ B 8
o ® ARE® (M) (M) (M) (ke)
WA 23.7 JtiEE 23.7 1,620 1,188 1,188 10 Va9 LL
IZALA 14.3 t EFH 1.2 1,404 — 1,296 10 L
ES) 5.5 BERE 5.5 2,160 — 2,052 0] A LL
[E<ELY 16.9 £ % 16.6 1,836 1,404 1,080 15 A L
HTE 2.1 ERE 1.6 1,944 1512 648 4 A M
—EOH 8.6 ERE 6.7 1512 1,296 1,080 4f A M
FrRY 89.1 B E 65.5 1512 1,296 1,188 10 Va9 8
IE5NAZES 1.5 £ & 0.4 4536 — 4212 45 30
hE 7.1 X & 3.7 1512 864 648 3l A L
_hE 1.8 ik B 1.2 3,240 3,240 2,592 3 L
_hE 2 [ 0.5 5,184 2,592 2,592 3l A S
125 24 ElG 1.1 3,780 3,510 3,240 5] vay
L) — 0.6 E % 0.6 — 4,104 — 10 A L
T RAINSHR 1.9 B A 0.7 — 135 — 01| vay M
LA 30.1 E % 30.0 1512 1,458 1,080 10 A 16
FoT YA 1.3 12 [ 0.3 — 972 — 3 A L
=p5Y 23.3 =l 11.6 1,728 1512 1,296 5/ B M
=p5Y ERE 1.9 130 - 108 0.8
ANESSES) 5.6 EES 0.8 2,916 — 2,376 10 vay 3L
Y 7.2 EES 3.6 - 1,728 — 4 vay L
Y = I 1.8 2,268 2,268 2,160 5/ A L
el 25.9 X 7 12.4 1,188 — 1,080 4] LA 16
TS EES 11.9 1512 1,404 1,296 4 vay L
S 5.2 EES 2.3 227 194 184 02| vay M
E—<> 7.6 X 7 25 93 — 81 0.15 A M
ES5HACL 43 E I 0.8 — 1,037 — 5 A L
x93 2.6 BRE 2.6 92 — 76 0.1 A M
[Zht5HY) 10.5 ERE 10.5 1512 648 648 3l A LL
SPVAITFA 0.1 & % 0.1 - 5,400 — 2l A
MrAL& 3.2 E X 2.4 2,484 2,052 2,052 5 M
IEhLs 8.9 £ B 8.9 - 108 - 10
=L 0.1
f=Fh&E 59.0 = B 58.8 2,808 2,700 2484 20 va9 L
ELLVE=T 1.6 BERE 0.1 — 108 - 0.1 L
ELLV=IT =I5 1.0 86 — 76 0.1 A M
ZADEET 3.6 E I 24 32 25 22 0.1 A
LHL 3.2 2 [ 3.2 97 67 65 0.2
LS EA S 391.6
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INGRH DA 5.3 BRE 1.0 - - - PR L
INGRFHDNA BERE - 378 — 033 A M
INGRFHPNA BERE - 432 — 033 A S
LEY 1.5 F Y 0.9 7,560 6,480 2,052 17 115
INLULT 3.6 = I 3.6 6,912 3,888 2,700 17 1133
L7 2)1LY 0.4 m7r7Y 0.4 4968 3,564 3,564 15 40
YATE 10.1
PErE=IY 0.9 5 & 0.9 6,696 6,048 5,940 10
AL 8.8 5 & 8.8 10,368 5,832 5,832 10 36
3HET 5.3
) 5.3 MET 26 - 5,648 — 5 18
FTHHE 0.2
ERGS 0.2 ERE 0.1 - 324 — 1 44
B35 0.2 JtiEE 0.2 — 756 — 0.18] vay LL
fipYp) JeiEE - 756 — 0.18] vay L
fipYp) JeiEE - 702 — 0.18] vay M
SESE 26
To9x7F 0.9 =l 0.2 - — — PR LL
F5917F =I5 - 3,629 — 16 A L
To9x7F =l - - - PR M
Big 0.9 2 E 0.7 - 2,808 — 14| B 4L
EA—* 0.2 2 0.2 3,456 3,240 3,024 140 A 5L
[AX-Ye BRE - - - PR
W52 TA)H 724 — 702 0.28
AO2EF 2.2
7—IJLR 1.4 = I 0.9 2,592 2,592 2,160 4 2
TUTRA 0.1
ZDADY 0.7 B A 0.1 — 7,776 - gl a1y LL
FULIVAEL 355
ERRY 33.3 BRE 29.4 2,484 2,160 2,160 6] A L
CIEFET LD 2.2 BRE 1.6 3,240 2916 1,944 0] A 4L
INTF 13.7 EVEY 13.7 4,320 4,104 2,808 15
INAFITIL 1.8 EJEY 1.8 3,564 - 2,916 10 8
FoA4)LY 1.6 —oP 1.6 2,808 2,484 2484 4 30
REHET 85.7




